[ Efficiency vs vertpos |
= 0.05

9.045
2
2.0.04
(8]
@.035
=]
$0.03
0.025
0.02
0.015
0.01
0.005

0
1.4

i

Ratio

1.2

N
bl__i;?

<-

.

—

v v v

—3
T

Ll

1072 107 1

—ehoC

11111

10 0?
TP vertr (cr%)
Efficiend —— %g

ICH%a ggﬁ..n{vmu. +666evt
ﬁégé %ﬁé%‘ﬁ TEORSLTLIER 1000ewt
~ 0.2

T S N T S .
» : : : : :
e L SRS S
> : : : : :

< Loenns e PO S !
.90'14 : : : : :
R S U SIS R
o : : : :

O & RN EIRN S SR
0.08f------ """ """" """" ]
N N
0.04f =+ fpeoeofeeeseecd oo e
0.02f ¢-v-f Bevecfersenned e i b L

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.02

Sy

B ool

% 014

éc’) 012F

£ S .01

"0.008- -

0.006f-

0.004f - 4k

0.002

o O — R '
E‘ 155- N

e WNETHE NG ol 8 H Y -

5 10 15 20
Sim. PV z (cm)

AN
o
d_l....
o



	Contents
	Page 1


